Is this sentence active
or passive?

\

While playing a game, Felix stuck a
sticky note on his head.

Can you think of a more formal b
synonym to replace this adjective?
(Use a thesaurus if you need to!)

miserable

Read the sentence below and \©
underline the two words that are
modal verbs:

At the adventure playground, we
could go down the curved slide and
we must try out the rickety rope
bridge.

Insert a semicolon in the correct Q
place in the sentence below.

Many historians believe that there
are more hidden tombs in the Gobi
Desert they are beginning a new dig
next week.

d

Change these nouns/adjectives
into verbs by adding the suffixes
-ise, -ify, -ate or -en.

design =—3

final =—

Mr Whoops has got in a muddle Q
with his commas. Could you help
him to add a comma to this sentence
for clarity?

Running for my life I sped from
the charging rhinoceros during my
safari holiday.




Tick the box that shows where
a dash should appear in this
sentence.

As African spotted hyenas possess
the strongest jaws of any

2

mammal, locals give them a special
nickname bonecrushers.

Are the underlined words a noun c

phrase, a prepositional phrase or a
subordinate clause?

Before nightfall, the campers busily
erected their tents.

Underline one determiner in each E
sentence:

“We can buy some bread and
strawberries for lunch,” said Mum.

“Can we take those grapes?”
asked Matthew.

Do these words need to end in
-ary or -ery?

bound
jewell

secret

b

Mr Whoops has been juggling d

with the letters from one of his Y6
spelling words. Can you spot what it
is?

bingts Q
see-through divided

Replace the appropriate words in the
text with synonyms from the list above.
One is done for you.

White light is a -mbeure- of all colours
of light. The light can be split into its
different colours using a transparent

block called a prism.

mixture -3 combination

—-

—




Write a sentence inside the
bubble with a fronted adverbial
about a creature that Sir David
Attenborough might encounter.
Underline it.

( )

Mr Whoops has made two
clumsy spelling mistakes in his
diary entry. Can you underline them
and correct them? Use a dictionary
if you need to.

While I was pollishing my
mantelpiece, I accidentally knocked

off one of my most pretious trophies.

Rewrite the with \©
a semicolon to replace the
co-ordinating conjunction between
the two independent clauses.

sentence

The heavy rain lashed against the
bedroom window so the man lay

cosily underneath his duvet.

Is the following sentence u{

statement, a command, a question
or an exclamation?

How grown up you look

d

Read the sentence and underline
the root word that could be given
an opposite meaning using dis-,
mis-, re- or in-. Write the new prefix
word.

a) The chef's undercooked food was
edible.

Read the sentence below and Q
f

circle the word that is an adverb o
possibility.

If we catch the earlier bus, we will
perhaps make the 4 o’clock showing
at the cinema.

g

'I = -_ —=
hﬁ..&ﬂ h.ﬂM-.I

NI




Tick the sentence that uses the Q
colon correctly.

I saw several memorable creatures
at the aquarium an octopus: an
anemone and a sea turtle.

I saw several memorable creatures
at the aquarium: an octopus, an
anemone and a sea turtle.

I saw several memorable creatures:
at the aquarium an octopus, an
anemone and a sea turtle.

Underline the relative pronoun in (

this sentence.

Dinosaurs were a breed of reptiles,

which became extinct millions of

years ago.

N

Underline the object in
this sentence.

The boy held the flag tightly.

b

Should these words end in -ance
or -ence?

obedi

ignor

Read these words:
aqueduct

Tick what you think the
prefix agua- means:

to swim

geography

water

aquatic

N

Forgetful Mr Whoops is vergQ

confused about noun phrases,
prepositional phrases and subordinate
clauses. Can you help him by saying
which is underlined in this sentence?

From behind the door,
there was a peculiar sound.




Tick the passive sentence: Q
The trick was performed
by the surfer.

The surfer was performing the trick.

The surfer performed a trick.

Can you think of the
correct -cial or -tial words
to match the definitions:

\

incomplete

absolutely vital

N

Underline the noun phrase
in this sentence:

The ugly, lonely monster
hid under the stairs.

b

Add a subordinating conjunction
and continue the multi-clause
(complex) sentence.

The mysterious letter lay on the
table

Mr Whoops has got in a terrible Q

muddle and has lost half of his
hyphenated compound adjectives.
Can you help him?

free-

warm-

Place the near homophones Q
‘weary’ and ‘wary’ into the

correct sentences:

After a sleepless night,
the new parents felt
and exhausted.

After the horse threw her off, the
rider was a little of
getting back into the saddle.




Add a main clause to this
subjunctive mood sentence:

N

If I were to become famous,

Mr Whoops has accidentally (
jumbled up an adverb that
shows manner. Can you help

him to unjumble it?

mlacyl

b

The word ‘repeat’ can be used as
an adjective and a verb. Tick the
sentence that uses ‘repeat’ as a verb.

Mr Whoops didn't want to repeat
his mistake and fall over again.

Mr Whoops collected his
repeat prescription from the
doctors’ surgery.

Match each word class label Q
to the correct word/phrase in
the sentence. Add in the missing
punctuation label.

There was a strong wind at
the beach; the black flags

were waving wildly.

prepositional

adjective
phrase

adverb

Replace the underlined words Q
with a more ambitious synonym.
Use a thesaurus to help.

Florence Nightingale is famous for
her generous personality.

Change these verbs into nouns Q
that end in -ation, -ition, -ssion
or -sion?

explode =——3

educate ==




Question 1
& box of six pencils costs £1.56. A box of eight rubbers costs £2.72.

What is the difference in cost between one pencil and one rubber?

(" Show your method w

Question 3
There are 72 girls playing in the playground.

Three sevenths of the children in the playground are boy
How many children are playing in the playground altogether?

[ Show your method \l

Question 2
At the start of the week, a book shop has 7687 books in stock. During the week,
2305 more books are delivered and 3021 books are sold.

How many books does the shop have in stock by the end of the week?
(" Show your method w

Question &
Pavel is cooking a chicken casserole. The recipe he is following uses 3369 of chicken to
make three servings. Pavel is making eight servings.

How many grams will he have left over from 1 kilogram of chicken?
[ Show your method \'|




Question 5 Reading and Writing Numbers up to 10 000 000
Nikita makes chocolate truffles to sell. Each chocolate costs 15p to make and each box costs 10 100 and 1000 M Less Than a Numb
12p. She uses the formula: (number of truffles » 15p) + (number of boxes » 12p) = cost. ! ore or Less na Number

George buys one box of truffles for £0.87. How many truffles did he buy? 1. Write the number that is 100 less than one million.

" Show your method \|

2. Write the number in words that is 30 less than 300 000.

3. 678 is 200 less than what number?

Question 6 _ 4 Write in words the number that is half of one million and ten.
19 200 people visited the leisure centre this week. This is
20% fewer people than the week before.

How many people visited the leisure centre the previous week?

" Show your method \|

Order and Compare Numbers
5. Put these cars in order of price, starting with the lowest price. One has been
done for youw.
A B C D E
s | AR | 255 | s AT
colon| |5 | &8 | et To)| |<oee
£31,750 £30,570 £3,900 £37,150 £31,900

B




6. Order the following numbers from smallest to largest. Rounding

111 101 11 10.1 10.11 11. Round 263 874

a) to the nearest 10 000

b) to the nearest 1 000

Place Value
c) to the nearest 100
7. Inthe number 178 390.82
a) Which digit is in the ten thousands place? Necgative Numbers

12. What number is 12 more than -77

b) Which digit is in the hundredths place?

13. Here is part of a number line.
&. Inthe number 217 361.05 part of

Write the missing numbers in the boxes.
a) Which digit is in the hundreds ploce?

b) Which digit is in the tenths place? /—8\ /-—8\

Roman Numerals

0. Here is a number written in Roman numerals. DCCIX

Write the number in figures.

14. The temperate outside is -4°C and inside is 15°C. What is the difference in
temperature between the outside and inside?

10. Write the year 2017 in Roman numerals.




Missing Number Questions

1. Wirite the three missing digits to make this
addition correct.

2. Write the four missing digits to make this
subtraction correct.

3. Write the three missing digits to make this
addition correct.

4 Write the three missing digits to make this
subtraction correct.

5. Write the two missing digits to make this long
multiplication correct.

6. Complete this division calculation by
filling in the missing numbers.

P

o = |+




9. Julin chooses a number between 50 and 100.

I IEEFE u:e i{)}?ﬁismls mhﬂ pm:lz._ 6 il ch from th k She halves the number and adds 15.
ETE are % chllcren Who are given o penctis ed from the pack. She divides this result by 3. Her answer is 19.
How many pencils are left in the pack? What was the number she started with?
Show your method. Show your method.

10. Mr Lucas is making some jam to sell at a school fair.
Raspberries cost £7.25 per kg
Sugar costs 85p per kg

8. Five children go to the cinema.
6 glass jars cost £1.80

Large popcorn costs £3.75 ) _ )
Drink costs £2 40 He used 15kg of raspberries and 8kg of sugar to make 30 jars of jam.
They share the cost equally of buying 2 popcorns and 3 drinks. Calculate the total cost to make 30 jars of jam.

i ?
How much does each child pay? Show your method.

Show your method.




1. Write the two missing values to make these equivalent fractions correct. %4 Order the following fractions from smallest to largest:

T R’ ' ™y If ™y r "1'

2 7 17 5

9 b 1 — — S 1 —

= = 3 4 10 &
. S ., A . A . A
4 12 - = s ) I ™ s &)
2. Write 2 equivalent fractions that can be represented by this drawing: h o 7N S g
smallest largest

Fraction Problems

5. Shade i of each shape.

and

3. Here are four fraction cards.

2 5 5 ? 6. At the beginning of the day, Hasim counted his money. He gave his brother 1/3
— — — —_— of his money. He spent £12 on a present for his sister. He then counted what he

had left, and it was half what he had at the beginning of the day. How much
3 6 9 1 2 did he give his brother? Show your method.

Use any three of the cards to make this correct.

LR E




1. Circle two numbers that add together to equal 0.75.

0.03 0.7 0.72 0.07

8. Continue the sequence to put the correct numbers in the unshaded boxes.

9. Complete the triangles so that the number in the centre is the sum of the
numbers on the outside.

a) b)

1.86 0.058

/N

LN N BN BN BN BN BN BN BN BN BN BN BN BE BN BN BN B BN B BN BN BN BE BN BN BN BN BN BN BN BN BN BN BN BN BN BN BN BN

10. Round the following decimal numbers:

Rounded to nearest
15 whole number
2928 tenths
0.185 hundredth

LN 0 BN BN B BN B BN B B BN BN BN BN BN B BN B N BE BN BN BN BE BN BN BN BN BN BN BN BN BN BN BN BN BN BN B N
Ratio

1. 24 identical books are on a shelf

&
¥

156cm

Another four of the same book is added to the shelf.
What is the width of the books now?

Show your method.



1. n=24

12. Here are the ingredients needed for raspberry ice cream: ]
What is 3n - 157

4 egqg yolks

100g sugar
300ml cream
300ml milk

150g raspberries 2. 28-3t=10
Work out the value of t. t=

Greg wants to use a box of 6 eggs. What mass of raspberries should he use?

Show your method.

3. Each shape represents a number.

Total 45

/\ /\ Total 42

Work out the value of each shape.

/\ -

4 A plumber charges the following for any work done.

call-out charge = £15
hourly rate = £21

Write a formula to explain what the plumber will charge for any number of
hours work.




Moncy '-"xxutfxxufxzuf

5. Draw the hands on this clock to show the time on this digital clock. ( (
8. 5 apples cost £1.45. \__) \__/]
T —-—-- s /'-\.Jf'.' % Jf R Jf- % ’,_. .'i""'\ ’,_. .'n."‘"".
e e, 3 apples and 2 bananas cost £113. | |: [ Z N N
/7 NN AN DN 7PN
_ | N @ 2 What is the cost of one banana? Show your method.
| |
e _ L) - Ny
' o Y .8 4 -/
L Y ".._‘ 5 ,.-'.-
-l:rl 6 [ ..._.-'

6. A film is 132 minutes long. It starts at 14:50. What time will it finish?

9. A box of 6 pencils costs £1.20. ————

7. This clock is 17 minutes slow. What is the correct time? A pack of % rubbers costs 48p.

AT
P
i

o

1

How much more does one pencil cost than one rubber? Show your method.




&y P, ) . }_.-;":-_:: i \ F.-;‘-:-_:: d \

10. Robert buys 4 packets of crisps. '
€

He pays with a £5 note. This is his change.

AT o ~
'_:; -"!f;.'_!-” WO 'é_{.!_;.'_[."' W 'g_*.};.'_[.” A

S B ot ; ey
-.._.-"i' — -.._.-'1' — k2 -.._.-‘1' — !
o i o

b b b

Arca and Perimeter

1. On the grid, draw a triangle with the same area as this rectangle.

12. Calculate the perimeter of this rectilinenr shape.

im

12m

&m

19m

perimeter =

Measurement

13. A pack of 8 apples weighs 1kg. What is the mean mass of each apple?




14. A jug contains 200ml of milk. Janek pours 135ml of milk into a bowl

Mark on the jug how much milk will be left in the jug.

15. Measure the diagonal of this rectangle.




1. Draw the reflection of this shape in the mirror line. 3. On this grid, draw a quadrilateral with 2 sides perpendicular and no

sides parallel.

On this grid, draw a quadrilateral with 2 sides that are parallel and no sides
that are perpendicular.

2. Draw an isosceles triangle on the grid and mark any lines of symmetry.




4 Shape A is translated to Shape B. Shape B is then translated in the same way
to Shape C. Complete the coordinates of Shapes B and C.

y
'y
b) (8,10)
a) (7,8) c) (9,8)
b)
a o (31) > x
b)
a) o

Shape A coordinates Shape B coordinates Shape C coordinates
a) (7.8) a) a)
b) (8,10) b) b)

c) (9.8) c) (3 c)

5. Accurately measure the different angles in this parallelogram.

4 F A F A BFAEFABFAdBFE A FdE FE YRR EEEA AP AP AR

6. Draw a line at an angle of 72° to this line.

7. Find the missing angle.




8. 100 girls and 50 boys were asked which kind of chocolate they like best. 10. A group of children tuke o spelling test The marks were 7, 6, 5, & e 5.

These two pie charts show the results. They take another test a week later and the scores are 9, 9, 6, &4 and 7.

What is the improvement in the average score from the first test to the
d?
plain white plain white secon
chocolate chocolate chocolate chocolate

100 girls 50 boys

Explain why the number of girls who preferred plain chocolate is the same as
the number of boys who preferred milk chocolate.

9 Each class raises some money for charify.

This bar chart shows how much each class raised

Y3 Y&
|IIII|IIII|IIII|IIII|IIII|I

o £20 £40 £60 £80 £100 £120

@) Which classes raised more than £257

b) Which classes raised more; Year 3 and 4
combined or Year 5 and & combined?




Games Ideas

Fizz Buzz

Choose ‘fizz’ for multiples of a number (e.g. 3), and ‘buzz’ for multiples of another number
(e.g. 5). Starting with 1, players take it in turns to say the next number. However, each time a
multiple of 3 or 5 is reached, the player must say 'fizz' or 'buzz’ instead of the number. If the
number is a multiple of both 3 and 5, the player must say ‘fizzbuzz'.

For example: one, two, fizz, four, buzz, seven, eight, fizz, buzz, eleven, fizz, thirteen,
fourteen, fizzbuzz

You could try other multiples or adding another multiple for a« more complex game.

Times Table Tennis
Choose a times table to focus on. Take it in turns to say the next number in the times table
sequence. You could pretend to serve and pass a tennis ball between you or use a real one.

Times Table Corners
Label different areas/corners of your garden with 2, 5 and 10. Shout out a number. If the
number is a multiple of 2, 5 or 10, your child must go to the matching area.

Fastest Times Tables Facts

Choose a times table to focus on and have a competition to see who can write down the times
tables facts the fastest. You can decide whether to write the number sentences out in full (e.g.
1x2=2 2x2=4,3x2=6)or justthe numbers (e.g. 2, 4, 6).

Times Tables Snap and Matching Cards

Create a set of cards with separate times table facts and answers. Challenge your child to find
the matching cards in a game of snap. Alternatively, place the cards face down and take it in
turns to turn over two cards. If the cards match, the player keeps the cards. If the don't match,
turn the cards back over and the next player takes their turn.
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Ingredients

225g unsalted butter
(room temperature)
225¢g caster sugar

1 tsp vanilla extract
1 eqg

330g plain flour

2 tsps baking powder
A pinch of salt

400g icing sugar

3-4 thsps warm water
Food colouring
Sprinkles

Equipment

Baking trays

Baking paper

Mixing bowls

Wooden spoon

Rolling pin

Egg-shaped cookie cutters
Cooling rack

Sieve

Small bowls

Small spoons or blunt knives

Method

1.
2.

First, wash your hands and put on an apron.

Preheat the oven to 180°C and line baking
trays with baking paper.

In a large mixing bowl, cream together the
butter and sugar until light and fluffy.

Next, beat in the vanilla extract and the egg.

5. In a separate bowl, mix together the flour,

salt and baking powder.

Gradually mix the dry ingredients into the
wet ingredients — adding a little of the flour
mixture at a time, to make a stiff dough.

Use your hands to lightly knead the mixture
into a dough.

Divide the dough into small portions and roll
out on a lightly floured surface.

Use cookie cutters to cut the dough into egg
shapes and place onto the lined baking trays.

10.

11.

12.

13.

14

Bake for 8 to 10 minutes.

Leave to cool on the baking tray until firm
enough to transfer to a cooling rack.

Once cool, the cookies can be decorated! Sift
the icing sugar into a bowl and gradually
stir in enough water to create a smooth
mixture. You could add a couple of drops of
food colouring too if desired.

Use a small spoon or knife to gently spread
the icing over the cooled biscuits.

Carefully, sprinkle over some sprinkles! Try
different shapes, sizes and colours to create
different effects.
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